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7KH &RPPLIHH RQ IIKH 6IDIXV RI = RPHQ XUJHV 8$) DQG 8% iR DPHQG KH (HDYH VKDUH
SROLF\ LQ RUGHU IR SHUPLIKH VKDULQJ R1 VLFN (HDYH IRU SUHJQDQF\ FKLOGELUIK DGRSHLRQ
IDPLO\ DQG HOGHU FDUH

(IHFILYH , PPHGLDIHO\

SDILRQDIH  7KH OHDYH VKDUH SURJUDP DO0RZV HPSOR\HHV IR YROXQIDULON iUDQVIHU KRXW IURP
WKHLU XQXVHG VLFN (HDYH EDODQFH WR WKH VLFN (HDYH EDOIDQFH RI DQ HPSOR\HH ZLIK D TXDOLINLQJ
PHGLFD0 FRQGLILRQ = KLOH FXUUHQUION 0HDYH VKDUH LV DQ H[FHOHQI H[DPSOH RI ZKDIl 8%) LV
DQUHDG\ GRLQJ ULIKWWR VXSSRUN LIV HPSIR\HHV SUHJQDQF\ FKLIGELUIK DGRSILRQ IDPLO\ DQG
HOGHU FDUH DUH H[FOXGHG IURP IIKH (HDYH VKDUH SURJUDP  7KH DELOLY\ iR DFFHSH 0HDYH KRXU
GRQDILRQV LQ IKHVH LQVIDQFHV FRX0G EH SDUILFX0DUON\ KHOSTX0 iR WKRVH ZKRVH SDUIQHUV DUH DOVR
8%) HPSIR\HHV  ([SDQGLQJ WKH 0HDYH VKDUH SURJUDP IR LQFOXGH SUHJQDQF\ FKLOGELUIK
DGRSILRQ IDPLO\ DQG HOGHU FDUH IRU DQ\ HPSOR\HH ZKR TXDOLILHV IRU )DPLON OHGLFDO
/HDYH ZRX(G EH D PHDQLQJIX0 ZD\ IRU 8%) IR GHPRQVIUDIH LIV VXSSRUI R HPSIR\HHV ZLiIKK
IDPLILHV DQG DQ DLG WR UHFUXLIPHQI DQG UHIHQILRQ R1 ERIK IDFXMN\ DQG VIDII

8%$)V = RUN /LIH %DIDQFH &RPPLIHH IRUPDI0\ VXSSRUIV IIKLV UHVROXILRQ



